
Az ellentett együtthatók 

módszere



Oldjuk meg a következő egyenletrendszert:

2x +3y = -7
3x +2y = -8
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II.

x = -2

3∙(-2) + 2y = -8II.

Megoldás:  

Ellenőrzés:

(x, y) = ( -2, -1 )

I.   2∙(-2)+ 3∙(-1) = -4-3=-7
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-6 + 2y = -8

2y = -8+6

2y = -2
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y = -1

II.   3∙(-2)+ 2∙(-1) = -6-2=-8



Oldjuk meg a következő egyenletrendszert:

3x  - 4y = -34
7x + 6y = 28

I.

II.

I.

II.
+

II.

x = -2

7∙(-2) + 6y = 28II.

Megoldás:  

Ellenőrzés:

(x, y) = ( -2, 7 )

I.   3∙(-2)- 4∙7 = -6-28= -34
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46-
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14x +12y =  56

23x  = -46

9x -12y =  -102 
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⁄∙3

-14 + 6y = 28

6y = 28+14

6y = 42

6

42
y =

y = 7

II.   7∙(-2)+ 6∙ 7 = -14+42 = 28



Oldjuk meg a következő egyenletrendszert:

I.

II.

I.

II.

+

x = -2

3y=2∙(-2) – 2 

Megoldás:  

Ellenőrzés:

I.
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y = -2
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3y = 2∙(x-1)

3x = 2∙(y-1)

I.

II.

3y = 2x-2

3x = 2y-2

I.

II.

-2x + 3y = -2

3x - 2y = -2
⁄∙2

⁄∙3

I. -4x + 6y = -4

II. 9x - 6y = -6

I. -4x + 6y = -4

II. 9x - 6y = -6

II. 5x = -10

I.

3y= - 4 - 2 

3y= - 6

(x, y) = ( -2, -2 )
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További  jó  munkát  kívánok 
nektek !


